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9-7 | Practice Worksheet
Special Segments in a Circle

In ©P, find the value of x.

1. 5 N 4 2.
»®
! ’X,'z-: 4 (‘n
1“’.—: 36
x=le
3.

7

DATE Keu
v J

N
R
2
@

8(18) = (x-10) 2

a =x2-10%

’x:lb‘%

8 9(an)= 3 (8 +2)

199= 44872
las=8«

(=15, Las

In OP, CE =6, CD = 16, and AB = 17. Find each of the following.
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5. EB
G(d) = ¥ (11-7)
Lo= M1 -22

2172 +60=0

6. AE

In ©P, AC = 3, BC = 5, and AD = 2. Find each of the following.
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Fill in the blanks. Thén find the value of x.-
1. x+_3 =5._49 2. 6. =3._% 3. x4 _=8. G
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16. 17.
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19. S

r_xﬂ-+41— =71
L84 d1-=0
h)eeol Quadratic

: - Formola
22. : 23.

S

' [ Q=18
r=a

25. Doorway An arch over a doorway is an arc that
is 160 centimeters wide and 50 centimeters high.

By drawing and labeling a circle passmg through
the arc as shown in the diagram; you can use the
following steps to find the radius of the c1rcle

~a. Find4B. 50 O
b, FindACand AD. 50
c. Use AB, AC, and AD to ﬁnd EA. 108
d. Find EB. 1% | |
e. Find the length of the radius, EO. §71
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F—160 cm — 3983 Quodracly

You are curious about the size of the entire circle.
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Segment Lengths in Circles

Solve for x. Assume that lines which appear tangent are tangent.
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Find the measure of the line segment indicated. Assume that lines which appear tangent are tangent.
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Find the measure of the arc or angle indicated. Assume that lines which appear tangent are tangent.
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Solve for x. Assume that lines which appear tangent are tangent.
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Find the measure of the arc or angle indicated. Assume that lines which appear témgent are tangent.
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Find the measure of the arc or angle indicated. Assume that lines which appear tangent are tangent.
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Solve for x. Assume that lines which appear tangent are fangent.
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Find the measure of the arc or angle indicated. Assume that lines which appear tangent are tangent.
15) Find mBD

16) Find msDEG
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